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1. (a) ¶Ûà˜Ûé¶ÛÛ ¸ÛþùÛé ÍÛ¾Û›ÛÈÛÛé. (•Û¾Ûé ©Ûé ¼Ûé)   4 

  Explain the following terms : (any two) 

  (a) œ÷ÈÛ¶Û µýÛéýÛ 
    Objectives 

  (b) …×ïäõÉÛ ÜÈÛÍ©ÛÛÁõ 
    Span of Control 

  (c) B2C 

  (d) ¶Ûé©ÛÛ•ÛàÁõà 
    Leadership 

 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û ¤æ×øïõ¾ÛÛ× …Û¸ÛÛé. (•Û¾Ûé ©Ûé ¼Ûé) 4 

  Answer the following questions in brief : (any two) 

  (a) ¶ÛàÜ©Û ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 

    What is Policy ? 

   (b) ÍÛ×̃ ÛÛÅÛ¶Û ¸ÛóÜ’õõýÛÛ ïéõÈÛà Áõà©Ûé ¼Û¶Ûé ™öé ? 

    How Management is process is done ? 

  (c) …ÜµÛïõÛÁõ ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 

    What does Authority mean ?  

   (d) ÍÛÁõ¾Ûä”Û©ýÛÛÁõ ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 

    What does autocratic leadership mean ? 

 (c) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. (•Û¾Ûé ©Ûé ªÛ¨Û) 6 

  Explain the following statements : (any three) 

  (a) ÈÛíéÜµÛïõ …¶Ûé …ÈÛíéÜµÛïõ ÈýÛÈÛÍ¬ÛÛ©Û×ªÛ ¼Û×¶Ûé …éïõ ¶Û¬Ûà. 
    There is difference between Formal and Informal organization. 

  (b) ÍÛÜ¾ÛÜ©Û ÈýÛÈÛÍ¬ÛÛ©Û×ªÛ þùÁéõïõ ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× …¶ÛäïæõÇ ¶Û¬Ûà. 
    Committee organization is not appropriate in all circumstances. 
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  (c) …×ïäõÉÛ ÜÈÛÍ©ÛÛÁõ¶Ûà ¾ÛýÛÛÙþùÛ¶Ûé ïõÛÁõ¨Ûé ÜÈÛ½ÛÛ•ÛàïõÁõ¨Û¶Ûà ›÷ÄõÜÁõýÛÛ©Û Šþù½ÛÈÛé ™öé. 

   Necessity of departmentation arises because of the limitation of the Span of 

Control. 

  (d) ÅÛÛéïõÉÛÛÐüà þéùÉÛ¾ÛÛ× ÍÛÁõ¾Ûä”Û©ýÛÛÁõÉÛÛÐüà ¶Ûé©ÛÛ•ÛàÁõà …¸Û¶ÛÛÈÛà ¶Û ÉÛïõÛýÛ. 

    Autocratic leadership is not acceptable in Democratic Country. 

  (e) ˆ¶¤øÁõ¶Ûé¤ø¶Ûà ÍÛ•ÛÈÛ¦ø¶Ûé ïõÛÁõ¨Ûé ˆ-ïõÛñ¾ÛÍÛÙ¶ÛÛ ÈýÛÈÛÐüÛÁõÛé ÉÛîýÛ ¼Û¶Ûé ™öé. 

    E-Commerce interaction has become possible due to Internet. 

  (f) ÈýÛÈÛÍ¬ÛÛ©Û×ªÛàýÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û …é ÜÈÛïõÛÍÛ ¾ÛÛ¤éø¶Ûà ›÷ÄõÁõà ¸ÛæÈÛÙ ÉÛÁõ©Û ™öé. 

    Organisational change is precondition of growth. 

 

2. ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé)   14 

 Write short notes : (any two) 

 (a)  ÜÍÛ±ùÛ×©Û “Û …¶Ûé ÜÍÛ±ùÛ×©Û ýÛ 

  Theory X and Y 

 (b) ÜÅÛïõ¤Ùø¶Ûà ¶Ûíé©Ûè©ÈÛ¶Ûà ˜ÛÛÁõ ÉÛíéÅÛà…Ûé 

  Likert’s four systems of leadership 

 (c) ¼Û›÷é¤øÁõà …×ïäõÉÛ 

  Budgetary Control 

 (d) …ÛýÛÛé›÷¶ÛÛ –Û¤øïõÛé 

   Components of Plan 

 

3.  (a) …×ïäõÉÛ¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 7 

  Explain types of control. 

 (b) ¸ÛÜÁõÈÛ©ÛÙ¶Û …é¤øÅÛé ÉÛä× ? ¸ÛÜÁõÈÛ©ÛÙ¶Û¶ÛÛ ïõÛÁõ¨ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

  What is Change ? Discuss the causes of change. 

           …¬ÛÈÛÛ/OR 

 (a) •Ûä̈ ÛÛé«ÛÁõ ÜÈÛÉÅÛéÌÛ¨Û¶ÛÛé …¬ÛÙ ›÷¨ÛÛÈÛà, ©Ûé¶ÛÛ ÅÛÛ½ÛÛÅÛÛ½Û¶Ûé ˜Û˜ÛÛë. 7 

  What is Ratio analysis ? Discuss the utility and limitations of ratio analysis. 

 (b) ˆ-ïõÛé¾ÛÍÛÙ ÜÈÛÄõ±ù ¸Ûó̈ ÛÛÅÛàïõÛ•Û©Û ÈÛȩ́ ÛÛÁõà ¸Û±ùÜ©Û…Ûé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

  Discuss E-Commerce vs. Conventional business system. 
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4.  (a) ¶Ûé©Ûè©ÈÛ ÍÛÛ©Û©ýÛ¶ÛÛ ÜÍÛ±ùÛ×©ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 
  Discuss the principles of leadership continuum. 

 (b) ÈýÛÈÛÍ¬ÛÛ©Û×ªÛ¶ÛÛé …¬ÛÙ þùÉÛÛÙÈÛà, ©Ûé¶ÛÛ ¸ÛóÜ’õýÛÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

  Explain the meaning and process of organization. 

             …¬ÛÈÛÛ/OR 

 (a) ËÛé̈ Ûàïõ ÈýÛÈÛÍ¬ÛÛ©Û×ªÛ¶ÛÛé …¬ÛÙ þùÉÛÛÙÈÛà, ©Ûé¶ÛÛ ÅÛÛ½ÛÛÅÛÛ½Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

  What is the meaning of Marix Organisation ? Discuss advantages and 

disadvantages of Matrix Organisation. 

 (b) ‘Ðü¡Ùö¼Û•ÛÙ¶ÛÛé …Ü½Û¸ÛóéÁõ¨Û …×•Ûé¶ÛÛé ÜÍÛ±ùÛ×©Û ¾ÛÛÍÅÛÛé¶ÛÛ ÜÍÛ±ùÛ×©Û ïõÁõ©ÛÛ ÈÛµÛä ÈÛíéßÛÛÜ¶Ûïõ ™öé’. ˜Û˜ÛÛë. 7 

  ‘Herzberg’s theory of motivation is more scientific as compare to Maslow’s 

theory.’ Discuss. 

 

5.  (a) ÍÛ×̃ ÛÛÅÛ¶Û¶Ûä× ïõÛýÛÙ“ÛéªÛ Í¸ÛÌ¤ø ïõÁõÛé. 7 

  Explain the scope of Management. 

 (b) …ÛýÛÛé›÷¶Û¶Ûà …Û×©ÛÁõàïõ ¸ÛæÈÛÙµÛÛÁõ¨ÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  7 

  Explain the Internal Planning premises. 

        …¬ÛÈÛÛ/OR 

 (a) µýÛéýÛÅÛ“Ûà ÍÛ×̃ ÛÛÅÛ¶Û¶ÛÛé …¬ÛÙ þùÉÛÛÙÈÛà, ©Ûé¶ÛÛ ÅÛÛ½ÛÛÅÛÛ½Û ˜Û˜ÛÛë. 7 

  Explain the concept of Management by objective and discuss its pros. and cons. 

 (b) Ü¶Û¨ÛÙýÛ ¸ÛóÜ’õýÛÛ¶ÛÛ ÜÈÛÜÈÛµÛ ©Û¼Û‘õÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  7 

  Explain Decision Making stages. 

______________ 
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